Trigonometry

Make sure your calculator is set to degrees for GCSE work. You should see a little D somewhere
on your display
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Worked Example to Find Missing Side

Adjacent
Cos = ——
Hypotenuse
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2 Cos 30 = ad
0s 30 = 79
~x =79 Cos 30
30 = 68.4160069mm
. x _ ~ 68.42 mm (to 2 d.p.)
Worked Example to Find Missing Angle Cos 6 = Adjacent
osu = Hypotenuse
Cos 6 = 84
- %57 = 125
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g° = 47.77838594 °
= 47°46'42,189"
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Template to find the missing angle:




here.

This will look something like
this:
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It could be Tan or Sin though




Template to find the missing side
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goes here.
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